55 AR AEE

_ (£ =H)
BEmE BN 2% &
'BHE |1 0.71 AR AEE
FENE | 2 0.66 ) ﬁﬁ
THME |3 0.63 Y
e | 4 0.63 .
EWHRE |5 0.63
EIWLE | 6 0.62
LER |7 0.61
Iz B2 ] | 8 0.59
HEHE | 9 0.59
mEE |10 0.59
BEE |1 0.57
BIHNTER |12 0.56
TRE |13 0.56
EHE |14 0.54
W aE |15 0.52
(e - 48)
=58 |17 0.52
ISR |18 0.51
WHHE |19 0.51 0a06
e E |20 0.50 0.4~05
KO E | 21 0.49
WA | 22 0.48
X bR BF | 23 0.47 _ _
£ B |- 0.47 B & 15 & B & SR | JBh |
mARE |24 0.46 [#m=
R E | 25 045 |wmus-Aman
R R R | 26 044 |xmE# % 5.66 8.61 3
HER |27 044 |wmzmERU
2 8 | 28 044 |s—rarLERO
EIEFE |29 0.43
BE R IE |30 043 [xE=
= | E |31 042 |xR%-ArED
EE B |32 042 kA% % 12.14 15.87 12
EEER |33 041 |wmzmsRU
ZRE |34 040 | s—ra1LzRO
RIFGIE |35 0.40
EHE |36 0.40
= I8 |37 0.39
EREE | 38 0.39 IRS—R B A L = 0.82 0.98 10
BEFE |39 038 |amskAfs=x
BEEE |40 0.38
FEER | H 0.37
BER |42 0.37
it & | 43 037 |+rEawmamm=
PEE |4 035 |wsmut) % 4.34 6.39 6
)R | 45 035 |us—ra1nERO
EHE |46 0.29
MPoAE R | 47 0.26
B |- &

OF I 77 & : ARMBEMRAL - ARARBE R FREZEERV/ -/ LER)
O B = : TH2EE
Q& M A : EEFBHETHBHISFR




